
ggT mit 2 Zahlen bis 500

Lösen mit Hilfe von Primfaktoren

Variante

Übungsblatt

4

38

Datum:Klasse:

Name:

1 a) ggT( 231, 297 )  =

231 =

297 =

ggT(231,297) =

b) ggT( 232, 240 )  =

232 =

240 =

ggT(232,240) =

2 a) ggT( 234, 261 )  =

234 =

261 =

ggT(234,261) =

b) ggT( 238, 252 )  =

238 =

252 =

ggT(238,252) =

3 a) ggT( 242, 264 )  =

242 =

264 =

ggT(242,264) =

b) ggT( 243, 270 )  =

243 =

270 =

ggT(243,270) =

4 a) ggT( 244, 488 )  =

244 =

488 =

ggT(244,488) =

b) ggT( 245, 294 )  =

245 =

294 =

ggT(245,294) =
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ggT mit 2 Zahlen bis 500

Lösen mit Hilfe von Primfaktoren

Variante

Übungsblatt

4

38
... Lösungen ...

1 a) ggT( 231, 297 )  = 33

231 = 3 7 11

297 = 3 3 3 11

ggT(231,297) = 3 11

b) ggT( 232, 240 )  = 8

232 = 2 2 2 29

240 = 2 2 2 2 3 5

ggT(232,240) = 2 2 2

2 a) ggT( 234, 261 )  = 9

234 = 2 3 3 13

261 = 3 3 29

ggT(234,261) = 3 3

b) ggT( 238, 252 )  = 14

238 = 2 7 17

252 = 2 2 3 3 7

ggT(238,252) = 2 7

3 a) ggT( 242, 264 )  = 22

242 = 2 11 11

264 = 2 2 2 3 11

ggT(242,264) = 2 11

b) ggT( 243, 270 )  = 27

243 = 3 3 3 3 3

270 = 2 3 3 3 5

ggT(243,270) = 3 3 3

4 a) ggT( 244, 488 )  = 244

244 = 2 2 61

488 = 2 2 2 61

ggT(244,488) = 2 2 61

b) ggT( 245, 294 )  = 49

245 = 5 7 7

294 = 2 3 7 7

ggT(245,294) = 7 7
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